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9L ik S8 41 40 81 12.0 69.0
1041 fBR 1§82 43 38 81 11.0 70.0 75
114 Bl xZ 42 42 84 14.0 70.0
12431 FE Z=UER 47 47 94 24.0 70.0
134 &kE FB 41 37 78 7.0 71.0
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154 XH EE& 36 43 79 8.0 71.0
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ATHL A% BX 42 45 87 12.0 75.0
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564i A A— 46 44 90 13.0 77.0
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681iL iz I - gl 47 51 98 20.0 78.0
691iL BH FE 51 42 93 14.0 79.0
704z HE B 43 43 86 7.0 79.0 75
7141 BA =A 48 43 91 12.0 79.0
72431 Fit EH 53 45 08 19.0 79.0
73431 AR XKiE 42 46 88 9.0 79.0
744 X% IEF 51 47 98 19.0 79.0
7541 EX X5 47 47 94 15.0 79.0
7641 EH {EiE 41 47 88 9.0 79.0
774L =H 't 49 48 97 18.0 79.0
7841 A0 B 47 56 103 24.0 79.0
794z =H EE 47 41 88 8.0 80.0
801iz JIIE 8K 49 43 92 12.0 80.0 75
814 EMl (& 55 44 99 19.0 80.0
8211 I N7 45 44 89 9.0 80.0
831{iL =H A 45 45 90 10.0 80.0
84431 B <493 49 46 95 15.0 80.0
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93fi1 Fall 281 48 45 93 11.0 82.0
9441 By —& 47 46 93 11.0 82.0
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